
























lSB.19 HKCEEMA ?Oll I 13 288Q (a) 3600 x :rr( ox)2 = 2880:rr ⇒ ox= 60 (mm) 
- ?88Q (b) XYZ = ;60Q x 2:rr(60) = 96:rr (mm) 

Base radius of container= 96,r = 48 (mm) 2, = Height of container= v'6IF-481 = 36 (mm)
(c) Ca p of container= �,r(48)2{36) = 86859 mm3 

= 86.859 cm 3 < 
:  YES. 

lSB.20 HKDSE MA SP- I- 6 
(a) ½:rr,2(12) =2X (;,r,3 X ½)

4 � 4 r3 3 :rrr=3:rr => r= 
2 (b) Volume=3:rr(3)3x3=54:rr(cm 3) 

15C Similar plane figures and solids 

15C.I HKCEEMA198l(l/2/3)-I-l 
S.A.ofbiggerta n k  

( �,)  S.A. of smaller tank V 27 Paint for biggertank (±,)' 72 kg . . 16 Prunt for bigger tank= 9 x 72 = 128 (kg) 

lSC.2 HKCEEMA l987(A/B)-1-9 
(a) (i) 108,r = Vol of hemisphere x 6 

108:rr= [1:rr(r)3 +2] x6 
108n=4n:r3 => r=3 
Vol of cylindrical  pan= ¾(108n) 

:rr(3)2(h) = 90n: => h = 10 (ii) Vol of water= 108it-Vol of empty space 
lSB.21 HKDSEMA 2012-I-9 (b) 

= 108n:-it(3)2(4) = 69it (cm 3) Height of vessel 2 Depth ofwater (a) Base area= Volume= 1020 = 102 (cm2J Height 10 (6+AD) x 12 102 => AD = 11 (cm) 2 (b) Perimeter of base= 11 + 12+6+ J{ll 6)2+ 122 

=42 (cm) T S.A. = 2 x 102+42 x 10 = 624 (cm2) 

lSB.22 HKDSE MA ?012 I P 
(a) Vol of cone= ½tc(48)2(96) =73728,r (cm 3) 

Cap of vessel 23 = 8 Vol of water Cap of vessel= 8 x 69n:= 552,r (cm3J 
15C.3 HKCEEMA1992-l-12 
(a) (i) Cap of fun nel= tn(9)2(10+5+5) = 540n: (cm3) ' (ii) V of water: Total v of water & oil: Cap of funn el = (10)3 : (10+5)3 : {10+5+5)3 

=8:27:81 V of water: V of oil: Cap of funnet =8: (27-8): 81 =8: 19: 81 (b) (i) Volofmilk=1it(60)3 +2=144000x(cm3) 
(ii) In the figure, d=v'6ol -4g1 =36

i

\ (b) 
e 96-d i '-. 

48 = 6;6 96 _:.:d '-\ e=96x48=30 / \ 
/ e \ 

Method I /-·----- . -. :. Vol ofparti°fcone inmilk,{   d  \ 

� 8 160 V of water= j40n x 81 = 3n: (cm3) In the tube, . 4  3 V of water m lower part= 31r(3f +2 = !Sit (cm ) 
. 160 106 :::;, V ofwaterm upper part= 3n: 18n:= 3n:(cm3) 106n: 187 Depthofwater= J;)2+3= 27 (cm) 

Vol of oil 19 = 73728,r- 3it(30)2(60) 48 
= 73728:ir-18000it = 55728,r (cm3) Vol of milk remaining = 144000it 55728it 
Method 2 Height of cone outside milk Height of the whole cone Vol of pan of cone in milk 

96-366 
=73728:irx [1-(i) 3] =55728:rr(cm 3) 
Hence 

5 8 

Vol of milk remaining= 144000Jt- 55728n = 88272,r cm3 

=277000 cm3 

= 0.277 m3 < 0.3 m3 

 ·  The craftsman is disagreed. 
""15B.23 in the end of 15C 

(c) 81 
/T9 

Cap of funnel Depth of oil Height of funnel V 81 
. /T9 => Deplhof01l=y81x20=9.69(cm,3s.f.) 

15C.4 HKCEEMA l994-l-2(e) 
Ratio ofvolumes=(¾) 3 =8:27 

15C.5 HKCEEMA 1997-I 7 

355 

'/8 2(a) Required ratio= y TI = 3 

ISC.6 HKCEE 1v1A 2000 l 8 
Actual area= 220cm2 x (5000)2 

= 5500000000cm2 = 550000m2 

lSC.7 HKCEE MA 2002 - I- 6 
Method I (a) Newradius=8x(l+10%)=8.8(cm) New area= ,r(8.8)2 = 77.44,r (cm2) (b) Origi nal area= it(8)2 = 64it (cm2) 77.44it-64:ir %increase = 64it xl00%=21% 
Method2 (a) Origina l area= n:(8)2 = 64n: (cm2) N ew area= 64n: x (1+ 10%)2 =77.44,r (cm2) (1+10%)2 -1 (b) % incre ase= 1 xl00%=21% 
lSC.8 HKCEEMA 2002-I-ll (a) LetA=hP+kP2• 

{36=24h+576k {h=-i => A= -5P+�p2 9=18h+324k =>- k=i - 2 6 
(b) (i) 5 1 54= 2P+

6
p2 

P2 - ISP-324 = 0 => P = 27 or -12 (rejected) . . The perimeter is 27 cm. 4 (ii) Area of miniature 8 Areaoforiginal 54 27 Perimeterofminiature 2 :::;, Perimeter of original v'Yf 
Perimeter of miniature = � x 27 v27 =2./27(cm) (=6v'3cm) 

lSC.9 HKCEE MA 2003 I 13 
(a) (i) x" 3600 x2:rr(56+24)=30it ⇒ x=67.5 

67·5" I I ' I 'I (ii) Area of ABCD = 3600 X ,r so)� - n: 56) 
= 612:ir (cm2) 

(b) (i) ( (8)'Area of EFGH = 612,r x 24 = 344.25:ir (cm2) 
(:;) B •• 0 18 " ase0 =3 nx2-4=22.51r(cm) 22.5,r = r= =11.25 2, 

lSC.10 HKCEEMA 2006-l 13 
h 3 I 

� 
(a) By~b.s, h+8 = g=z 2h=h+8 :::;, h=8 h 

. . Vol of frustum 3 =½x(6)2(8+8)-½(3)2(8) 8 
= 192it-24:rr= 168it (cm3) 4 6 => Vol of X = 168n+ 3n:(6)3 -:-2 == 312n (cm3) 

VolofY =� S.A.ofY 3 =( ® 3 =!!_ VolofX S.A.ofX V4) 8 7 => Vol ofY = i(312it) = 1053,r (cm3) 
(b) Ratio ofS.A. of spheres= (I: 2)2 =I: 4 :;f4:9 :. NO 

lSC.11 HKCEEMA2007 I-11 
(,) Method 1 x 8 By~ b.s, J.8 24 

x=6 
1 
3 

1 Vol ofwater= 3,r(6)2(8) 
=96,r (cm3) 

Method2 3 

18 

J.C7 l ,ty
Volofwater= (£) Volofvessel 

I I = ?.7 X 31t(l8)2(24) = 961!: (cm3 

(b) (i) Method 1 Area of wet surface = tc(6)� = 60it (cm2) 
Method2 2 Area of wet swface = (I,j:) C.S.A. of vessel 

1 = 9 x 1r(l8)V182+242 
=60n(cm2) (ii) Ratioofhei ghts=24:36 = 2:3 Ratio of base radii = 18: 27 = 2: 3   The two vessels are similar. . . Area of wet surface is also 60it cm2. 

lSC.12 HKCEE MA 2008 I 13 - 216° (a) ABC= 3600 x2it{20) =24:rr(cm) 
. Base radius ofX = 24,r = 12 (cm) 2, Height=�= 16 (cm) 

I (b) Vol ofX = 3n:(12)2(16) = 768n: (cm3) 
(c) Method 1 1080 Base radius of Y = lii[jo x 2x(l0) 3 (cm) 2, 

{ 
Slant height of X Slant height of Y Base radius of X Base radius of Y :. NO. 

20 �2 10 
� = 4 =/= Slant height of X 3 Slant height of Y 

Metlwd2 ?!60 Base 0ce of X = ;60Q x 2tc(20) =24,r (cm2) 
108° Base 0ce ofY = 360° x2it(l0) =6it (cm2) 

{ 
Slant height of X 20 = 2 Slant height of Y 10 Base 0ce of X 24n: 4 -:;f Slant he'.ght of X Base 0ce of Y 6it Slant height of Y NO. 

Method 3 ?f6Q C.S.A. of X = ;60Q x x(20)2 = 240,r (cm2J 
108Q C S.A. off= 36ifo" x it{10)2 = 30,r (cm2) 

{
SlantheightofX 20 =2Slant height ofY 10 C.S.A. of X 240it = 8 f (Slant height of x)' C.S.A. of Y 30it Slant height of Y NO. 
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